

$$\mathbf{mix} = \mathbf{h}[3] \mathbf{t}[1] + \mathbf{h}[2] \left(-\frac{e^{c[1]} c[4] \mathbf{t}[1]}{c[1]} + e^{c[1]} \mathbf{t}[4] \right)$$

$$\mathbf{h}[3] \mathbf{t}[1] + \mathbf{h}[2] \left(-\frac{e^{c[1]} c[4] \mathbf{t}[1]}{c[1]} + e^{c[1]} \mathbf{t}[4] \right)$$

$$\mathbf{mix} = \mathbf{h}[2] \mathbf{t}[4]$$

$$\mathbf{h}[2] \mathbf{t}[4]$$

$$\mathbf{y} = 4; \mathbf{x} = 2;$$

$$\mathbf{cox} = \mathbf{D}[\mathbf{mix}, \mathbf{h}[\mathbf{x}]] /. \mathbf{t}[\mathbf{y}] \rightarrow 0$$

$$-\frac{e^{c[1]} c[4] \mathbf{t}[1]}{c[1]}$$

$$\mathbf{coy} = \mathbf{D}[\mathbf{mix}, \mathbf{t}[\mathbf{y}]] /. \mathbf{h}[\mathbf{x}] \rightarrow 0$$

$$0$$

$$\boldsymbol{\gamma} = \mathbf{Coefficient}[\mathbf{mix}, \mathbf{t}[\mathbf{y}] \mathbf{h}[\mathbf{x}]]$$

$$e^{c[1]}$$

$$\mathbf{rest} = \mathbf{mix} /. \mathbf{t}[\mathbf{y}] \rightarrow 0$$

$$-\frac{e^{c[1]} c[4] \mathbf{h}[2] \mathbf{t}[1]}{c[1]} + \mathbf{h}[3] \mathbf{t}[1]$$

$$\boldsymbol{\delta} = \boldsymbol{\gamma} \mathbf{c}[\mathbf{y}] + (\mathbf{cox} /. \mathbf{t} \rightarrow \mathbf{c})$$

$$0$$

$$\boldsymbol{\gamma} \mathbf{c}[\mathbf{y}]$$

$$c[4]$$

$$\boldsymbol{\gamma} \mathbf{c}[\mathbf{y}] (\mathbf{E}^{-\boldsymbol{\delta}}) \mathbf{w}$$

$$e^{-c[4]} \mathbf{w} c[4]$$